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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) wfreff gawym 394 ¥99-13 W A sifqardd: fag |
Candidate must write first his - her Roll No. on the question paper compulsorily.

(2) wft yEm FE wfEd @ |

All the questions are compulsory.
(3) W% T F1 I & 7E I -qfeent 4 A ferd |

Write the answer to each question in the given answer-book only,
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(4)

(5)

(6)

(7)

(8)

2

ﬁﬂ!ﬁﬁmw!.nmﬁ%wwmﬁw,

For questions having more than one part, the answers to those parts are to be
0 be written

together in continuity.

gﬂ-qﬂ%ﬁfﬁaaﬁﬁﬁmﬁﬁﬁﬂmﬁaﬁjm/ﬁﬂ 43 fedt e

A A A I |

is any error / difference / contradiction in Hindi & English versions of th
: 50 e

If there
question paper, the question of Hindi version should be treated valid

wmm%ﬁiﬁﬁmﬁm Haw ford |
r of the question before attempting it.

Write down the senal numbe

nﬂﬁiﬁrﬁﬁﬁiﬁﬂ%aﬁumwél

W WG 22
to map-work carrying 4 marks.

Question No. 22 is related

mﬁwmﬂzzwﬁﬁaﬂmﬁmil

There are internal choices in Question Nos. 16 to 22.
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g - H
Section - A
T 7 -
Objective Type Questions :
ﬁﬂm%mwaﬁﬁmwmm_mﬂw:

Select the correct answer of the following questions and write in the answer-book -

(Q) 1371ﬁnmﬁfﬂmmﬁﬁmémwmzfﬁaﬁmm?

(30 gl (|) W

@) wf (X amfEm

King William I was declared the emperor of which country in 1871

(A) ltaly (B) France

(C) Germany (D) America l
(i) fefa favagg fam awl ao g on 2

@) @ (®) I

(W) B8 Q) A3

How many years did the Second World War last ?

(A) Two (B) Four

(€) Six (D) Eight I
(iif) et 3 S <t el g Pret fovm and oy g

(H) 1855 @) 1860

(q) 1862 Q) 1872

In which year was the country's first Jute mill started in Bengal ?
(A) 1855 (B) 1860
(C) 1862 (D) 1872 1
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(iv) v 3 wadwm Rifin Ya sl wfya i 7

() WE, (%)
@) fagn (@ mMal

Where was the first printing press established in India ?
(B) Bengal

|

(A) Maharashtra

(C) Bihar (D) Goa
(v) R ad & o Q it aw arn T e
(3) TH FAd & (@) TG o &
@) qw (7) wTE
Area sown more than once in agriculture year
(A) Gross cropped area (B) Netsown area
" (C) Fallow lands (D) Pastures
(vi) fyva 6 e fea wfaea 3a - fafaar wiea d ord st @ 2
(HA) 7% (@) 8%
H) 9% (@) 10%
Approximately what percentage of the world's bio-diversity is found in India ?
(A) 7% (B) 8%
(C) 9% (D) 10%
(vii) = § @ ®9 | 3 gA-e, ffra 3 faam &) &= 719 & §9 1§ T
w7
(¥) uffam @) @R
@) #He (8) Hieond

Which one of the following industries uses limestone, silica and gypsum as a
raw material ?

(A) Aluminium (B) Plastic

(C) Cement (D) Automobile

fll Science



(viii) AT R 1 TSRt e T —
(H) 1983 (® 1973
(®) 1963 (@) 1953
The air transport was nationalised in

(A) 1983 (B) 1973

() 1963 (D) 1953

(ix) “BER® TR 6 saen fra tm A i
(H) ¥E @) afcsm
@) e @)

In which country was the system of *Community Government® established ?
(A) India (B) Belgium

(C) SriLanka (D) Germany
(x) el s 3 e aleda fe A & e feea § o 2 7

(3) qu g @) T

@) wHadl gl (@) e v (@ w)

Computer software comes under which of the following options in Indian

Constitution ?

(A) The Union List

(B) The State List

(C) The Concurrent List

(D) Residual Subject (The remaining one)

S8-08-Social Science
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(xi) ‘mfa'aaqgmmwmwmﬁmmﬁhmm!—

() R (@) Fnfeard)
@) @ (@) T
A person who considers “caste’ as the main basis of community, is called
(A) Secularnst (B) Castest
(C) Communalist (D) Femimist

(xii) Prferfiga § & ¥ &1 ihda @ 9T MEA R 7

() THH (@) i
@) Afwh e (@) T A SR
Which of the following is better governance than democracy
(A) Monarchy (B) Dictatorship
(C) Military rule (D) None of these
(xiii) Pt 3 & B3 # v ranfaa s @ wafua nfafafu 2 ¢
(3) fararer & e (@) HIEH i g
(8) AT TR (@) 2f gagh aren uin
Which one of the following is an unorganized sector related activity ?
(A) Teacher in school (B) Factory worker
(C) Doctor in hospital (D) Daily wages labour
{xiv}ﬂﬂﬁﬁﬁmﬁzmmmm? -
(31) vty e & () &3 TEN
@) ®e & AT o () WA
Institution issuing currency note in India is
(A) Reserve Bank of India (B) Central Government
i (C) State Bank of India (D) Share Market

ycience
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(xv) sy EOve & &9 8 & nofa g sk
(3 fataw (4) M g
(W) oh Pdw w @) werfaw @

As a trade barrier tax is imposed
(A) on Expont (B) on Import

(C) on Capital Investment (D) on Subsidy

2. P Al ) gl i
Fill in the blanks :
() WAETIB0FHE e v wga A0 A e |
A disease called spread very rapidly in Africa in the 1890s.

(ii) mm%mﬂmmmmﬁm%hﬂaﬁr_
FeaTe} 1 # ZwEw W o |

Before the age of machine industries. silk and _ goods from India

dominated the international market in textiles.

(iil) WA Ty % R dgmam # )
Khadins are found in district of Rajasthan.
(iv) fewa & gy (

The capital of Belgium is

(v) e s %! Tehid v & &9 8§ arften R man &

‘E-Sm‘ill Science

has been adopted as the state religion in Sn Lanka.
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(vi) eftaes &% H SRS E IR
Tertiary sector 1s also called

(vii) U AP g R e fAmE @R

Investment by the multinational corporations is called

A T W « e Tl & IO g vy o afa | Af

Very Short Answer Type Questions : Answer the following questions in one word

or in one line.

(1) goEd el s E 7
\What s calligraphy

(i) T Fyfer v i FHifaai 6 e wd g fFa ol gurs 3 796 =
v feralt 2

Which religious reformer wrote his Ninety five theses criticizing many of the

practices and rituals of the Roman Catholic Church ?
(iil) Tl gaft A s S A e ek fem A ford 2
In which language did Rashsundari Debi write her autobiography titled *Amar
Jiban" ?
(iv) da-fafawm a2 2
What is bio-diversity ?
(v) e g & e o R § 7 (HHE )

What are the main causes of water pollution ? (Any two)

|
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(vi) st 3 1956 3 g w1 @t TenT wifta fehan T

Which language was declared the official language of Sri Lanka in 1956 ? |

(vii) 3 397 3 7 Ferfgd Pt wftemd aftram @ firerdl & 1 (18 T)

Write the name of the countries whose borders share with Belgium. (any one) |
(vitl) WRE vt dehfa v Adftadis & Fur @@ oft Tl 1 e fohn T R |
H1{ T I A |
In India. states have also been formed on the basis of geography. culture or
ethnicity. Give any one example. I
(ix) @A &I § O h) arafty e Qe 2 2
How are the terms of employment in organised sector ! 1
(x) vl <t TR ) IR FT TN TG FF B AR 2
Which is the main factor to stimulate the globalisation process ? 1
GUg-§
Section - B
YIRS T : (I Ieg HHT 7T S0 91eg)
Short Answer Type Questions : (Answer word limit approx. 80 words)
4, | wyu favage & +13 3 aform s |
Mention any two results of the First World War. 1+1=2
5. st R s d 7
2

What is Industrialization

-

| Turn over
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6. e Pt ) i 1 vl ifre |

Describe the process of soil formation.

7 fifard 3 Rea R E TR, 931 U@ AT wfegva i ofafda & fean 2

How did irrigation change cropping patterns, soils and social landscapes ”

8 FHEGR % W qregy wA-RA A 7

What are the relevant mediums of mass communication "’

§ 9% TATER WHfta IR 6w 2 w@ fdrard w4 w # 7 qe A ferfe |

According to you, what are the two main features of federal government 7 Write in

brief. https://www.rajasthanboard.com

10, WA 3 wfEeTal e AR et e & Hié g ¥ HR AT |

"Explain any two forms of discrimination against women in India.
3

1. 'mmﬁ%mémww@ﬁﬂl'wmmmmmm|

‘Dynasty is a big challenge before political parties.” Explain your opinion on this

statement,

1) wredn i e fafiaa & amaa & wa S oqo e T smavs R g
fooi 2 vl 1 vz AT |

What conditions are necessary (o be fulfilled for accommodation of social

diversities in democracy ? Explain any two conditions.

S-08-Social Science
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13 ﬁmmaﬂmﬂmi?

What do you understand by Infant Mortality Rate ?

14 fava STan EEA % Shré Q) W Fr fefen |

Write any two main functions of World Trade Organisation.

15, IquiteT AMEHAT & HH§ Q) 399 fafgu |

Write any two measures of Consumer Awareness.

@ug -H

Section - C

el - Jorlla wea « (I aree G S 100 vTse)

Long Answer Type Questions : (Answer word limit approx. 100 words)

16. Avifera & gigm &1 aftra avia Hife |

Briefly describe Napoleon's code.

FUEUOR
JTHATE TS & 1 HIIA 8 ? FEHART |

What did Liberal Nationalism stand for ? Explain.

S-08-Social Science
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1+1=2

1+1=2
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17 mﬂﬁmtmﬁﬁmwﬂ@hm'

' ¢ aoricultural development ip
Describe the technological and institutional reforms of agn

India.

aEUOR
\TeA 1 9T - TeY a1 aud #f |

Describe the cropping pattern in India.

IX. mﬁmﬁﬁwﬁmmmnﬁ?f&ﬂmqmﬁﬁf&ﬁmﬁm|

What efforts have been made to reform political parties in India ? Explain any three

reforms.

FarOR
mﬁm@ﬁwma?mmmﬁﬁmm_.

Why are political parties needed in democracy ' Discuss any three reasons.

19. ¥y faft= gt A Jeafen amqan va dansi & gea 6 e FE i 2 3faa e
¥ g | gUyge |

How will you calculate the value of goods and services produced from different

sectors ! Explain with the help of sutable example.

L

FUROR
3o wargaR et e &1 gom &3 fea o w7

How more employment can be created according to you ?

S-08-Social Science
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Section - D

Preacr T : (IR Wag Hiy o 250 W)

Essay Tvpe Questions : (Answer word limit approx. 250 words)

20. WG BT HidreH 1 feream & ot Fif |
Describe the Quit India Movement in detail.

FYFVOR

el § JWEAM icier Rew v e 2 aETRE |

How did the Non-Cooperation Movement spread in the towns ? Explain.

21. PRy s fewafora ferfie -
(1) & qEEal o

(2) =% &i gfaw

Wnite a note on the following :
(1) Self Help Group
(2) Cheque facility
FEEVOR
&1 61 3w wadt nfafafirt o o witra o fafae |
Write a short note on loan related activities of banks.

$-88-Social Science
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22. w1 I fed M wrafe o i

Write the answer in the given map :

f&a m v & t@r-amfiE A faafafes ada w9 8530 1 sfea Fifae

(3) e (4) fasaargr

@) wh @ aménta

Mark the following Thermal Power Plants in the given Outline Map of India :

(A) Nashik (B) Vijayawada

(C) Barauni (D) Bongaigaon 1+1+1+1=4
FYE/OR

foa m vrm & t@-amfaa | frafafiga adie s 5373 # sifea o
(H) TR (/) THTEH
(|) HAHH (3) ATHEY

Mark the following Thermal Power Plants in the given Outline Map of India :
(A) Gandhinagar (B) Ramagundam

l(C) Amarkantak (D) Namrup 1+1+1+41=4

S-08-Social Science



